_______________________________________________________________ 

Excel Assignment #3 – EC 11

Marginal Utility
______________________________________________________________________________

The purpose of this assignment is to familiarize you with the economic concept of utility and marginal utility
You must turn in:

· A printed copy of both spreadsheets
· A copy of the answers that appear at the end of this assignment

Directions:
Input the following data on consumption of coffee and bagels. Our consumer (Jane) initially goes to the bagel store with $8 in her pocket to buy bagel (with the works) and coffee. Coffee costs $2 per cup and bagels are $4 each. Her utility appears below. 

Your headings should appear in the first row of your spreadsheet. Figures should start in row 3 (cell A3). Quantity of coffee should appear in column A, Utility of coffee in column B. The quantity of bagels should be placed in column E. The utility from bagels should be entered into column F.
Quantity of Coffee 
       Utility

       Quantity of Bagels
Utility
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0
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3

240


4
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280


5

          160


        
5

300

Step 1:
Go to column C (currently empty). Input the change in utility derived from the consumption from the first cup of coffee, placing the result in cell C4. Your formula should read:


=b4-b3
Copy this result down the rest of column C. In cell D4, divide the results in column C by the price of coffee. In cell D4, you should have the number 35. Click and copy this result down to the end of column D.

Repeat these directions for the figures representing bagels. Make sure you begin in cell G4.

Step 2:
Suppose the bagel store has a one-day sale and drops the price of bagels (with everything) to $2. Make a copy of your spreadsheet from above, and place it in “sheet 2” in your excel workbook. Now repeat the calculations above using the new price of bagels. Make sure you save your work.
Step 3:

Print both of your spreadsheets (the original and the new one with the lower price of $2 for bagels).

Questions:
1. Examine your numbers in columns C and G. Carefully explain why these numbers are falling. What would it mean if the numbers were constant instead of falling?
2. When Jane faces the original prices (and has her $8 with her), what quantity of bagels and coffee does she buy?

a. What is her total utility

3. Suppose Jane brings $18 with her instead (and is hungry enough to eat what the $18 will buy). What is her new equilibrium consumption?

4. Now use spreadsheet #2 (price of bagels =$2). Returning Jane to her original budget of $8, notice that there are no equilibria where the marginal utility per dollar is equal across the two goods. Explain an alternative way of finding her best combination of the two goods.

a. What are the equilibrium values? Does Jane have any money left over?

b. What is the value for total utility now?
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